2.10 |
1993 1 |
FP21/SR25 |
|
, RS232C  RS422 |
|
|
S J
§1
§ 2
§ 3.
§ 4. CC2125 V2.10
§ 5. CC2125 V2.10
§ 6. CC2125 V2.10
§ 7. FP21
CC2125A
8§81
§2
8§ 3.
§ 4. CC2125 V2.10
§ 5. CC2125 V2.10
§ 6. CC2125 V2.10
§ 7. FP21
§ 8. SR25
§9. #3 BASICA
§ 10. PC ) BASICA FP21,SR25
§11. T
.RS232
.RS422
81
1 FP21 SR25 ( 2.10)
C21254.bat - ( )
C2125.EXE - SR25 FP21 ( )
BASICA.EXE - COMOPAQ.BASIC
B1.BAS - BASIC
B21.BAS - BASIC FP21 *D1"
B25.BAS - BASIC SR25 "'DS"
232T.BAS - BASIC PC 232 RS422
CC2125.WPS - CC2125A
CMFP21_.WPS - CMFP21
2 5 :UCD0S2.01 - « )
WPS WORD STAR "N UCDOS CCDOS  TYPE



CC2125.txt CMFP21.txt

WPs , "X . SPD0S/600,
8§ 2
FP21 SR25 ,
e FP21 [66] "00", 1200(2400,4800 )
FP21  [67] "0t 7 ,
FP21  [OPM] "CoM" . ,FP21 coMm .
e SR25 [L2-H3] 02", 1200(2400,4800,9600)  SR25[L2-H4] 7
SR25 ) (COM)
§8 7/
ASCII
16 ASCII
STX 02H CHR$(2)
ETX 03H CHR$(3)
EOT 04H CHR$(4)
ENQ 05H CHR$(5)
ACK 06H CHR$(6)
NAK 15H CHR$(&H15)
BASICA
131 REM

140 STX$=CHR$(2) :ETX$=CHR$(3) :EOT$=CHR$(4)
150 ENQ$=CHR$(5) :ACK$=CHR$(6) :NAK$=CHR$(&H15)

RS422 (RDA) (RSD) RS422A
. (SDA) (SDB) RS422A
, , (SDA)  (SDB) , ACK
, , RS232
() ()
EOT+" "fENQ - ————— — — -
c———————— - "+ACK  ( )
( )

( )
ASICA : "00"
200 REM PC COM1 , 1200 , 7 ,1 , ;
210 OPEN "COM1:1200,E,7,1,CD,RS,CS,DS™ AS #1 :REM COM(L)
230 PRINT#1,EQT$:REM (GO TO SLEEP)
510 ADR$="00":REM 00"

530 C$=EOT$+ADRS+ENQ$

540 PRINT #1,C$

550 FOR T=0 to 500:NEXT: REM
560 A$=INPUT #1

570 IF A$=ADR$+ACK$

580 PRINT " m



590 REM

(SDA) ’ (SDB) - ,

RS232 ,

) )

BASICA
PRINT #1,CHR$(4)

. ; ,BCC
; , BCC
STX+"  "+ETX+BCC ————— — —— -
( ) ———————— STX+"  "+ETX+BCC(
NAK( I - ( )
AK () @ ———————— -
——————— . *"INAK (
BASICA
PRINT #1,CHR$(2)+" “+CHR$(3)+
, , ,BCC
(ACK)
STX+" "+ETX+BCC — ——— — — — — =
- - - - - - - ACK (

———————— . *"HNAK (

)



BASICA
PRINT #1,CHR$(2)+" "+CHR$(3)+
BCC
, BCC STX
BCC ( EXT) ASC
STX + *M1" + ETX + BCC
(02H) (4DH)(31H) (03H) (81H)
4DH+31H+03H=81H (8bits)

ASC 81H&7FH=01H (7bits)
"MLt FP21
BASICA BCC ., CMD$ 7/

560 CMD$=CMD$+ETX$:LEC=LEN(CMD$):BCC=0
570 FOR I1=1 TO LEC:S$=MID$(CMD$,1,1)
580 BCC=BCC+ASC(S$)

590 NEXT

600 BCC=BCC MOD 128:REM 8
610 BCC$=CHR$(BCC):REM BCC ASC

620 TXD$=STX$+CMD$+BCCS:REM

630 RETURN

FP21
ERO:
ER1:
ER2:
ER3: ( : )
ER4:
ER5:
ER6:
SR25
ER1:
ER2:
ER3: ( : )
ER4:

13 ’
15 ’ 3

84 CC2125A v2.10
-1BM PC/XT,AT, 286,386
‘EGA(640%x350) EGA/VGA
-640KB
1.2MB 5.25"
SMB

RS232
‘MS-DOS 3.0
-UCDOS V2.0



§ 5. CC2125 v2.10

A.UCDOS 2.01 ( UCDOS )
UCDOS 2 A , INSTALL
B.UCDOS 2.01
: C:/S UCDOS
I 64K
. EGA
: ON;
UCDOS
C.CC2125A
MD , CC2125
CD ,
1 A , COPY A:*_*
86. CC2125A v2.10
UCDOS , cD
C>CC2125A CC2125
CC2125
o
O
T
O
CC2125A
Esc ,
o
CC2125A
1.
PC RS-232C
PC RS-232C/RS-422A
RS-232C/RS-422A RS-422A
PC 25
2.
BCC
3.
CC2125A PC ,PC

4.

ON

PgUp,Pgbn

Del



5.FP21 ( § 7 FP21 )
6.SR25 ( § 8 SR25 )
7.
PC
RS-232C/RS-422A
1 ( )
PC ( )
232
RS232/RS422
RS232/RS422
(1200 ), , :
RS232C/RS422A
2.
’ § 2
FP21 SR25 , PC
§ 7. FP21
/ :
FP21 FP21 9
36 ,
’ - "R ’
9 ASC 0 9 , ,
@ ... ASC
(b) ||+||’|| 'l,'l-ll " "
(b) " " , ( )
© "

@ ;"
N:(1) NN:(oz) NNN:(012) NNNN(1234): NN.N:(12.3) NNN.N:(700.0)

SNNN(+123) SNN.N(-12.3) SNNN.N(+005.0)

SXXXXX )
PTN No.: , PIN1 10 01 10,

STP No.: ) 01 10(9 ),01 81 ( 81 )
PID No.:PID, PID 1 10 1 10,

ALARM No. : , ALARM 1 10 1 10,

s ASC , , 'D1" ,"M1"



¢ ):

"D1" , "STX b1, , , , +ETX+BCC"
Pv=", =, =, =
, , - S1-1,01 ,
¢ ):
IID n
E100 RUN , s
,FP21
s ,CC2125
, PID C1-1 , "Cio1, , , " ,
, cio1, ; cio1,, ; cio1,,, ,
CC2125 , -
-l , s llDeIll ,
FP21 A. B. 2 C. PID 2
S0 1, 01, ,1 1 S201,01,,2 S20,1,01,2;
_PTN_No., 1 1 1
_STP No., 01 01 01
PID _PID_NO., 1 2
_ALM_NO. 1 2
, FP21 ,
, FP21
FP21 , D1 D4" (LOC)
[OPM] , "COM™ ,FP21 , , "Com™
COM , ,
OE , COM-EXT( - ) , "COM™  “EXT™
010 C
, E100 HLD , ,PID
,FP21 ,
/ -
1: 01 /
N: LED D1 D4
N: M1 M3
N: El E5 /

PID

01



1: P1 /
N: S1 S6 /
N: Cl1 C3 /
N: K1 K3 /
N: 11 19
01 : /
01
com/s - EXT"
010  COM/EXT (01 EXT) (01 com)
N - LED
D1 /
PV, , sv PTN No. , STEP No.
D2 (ON/OFF)
RST, GUA, ADV, HLD, RUN, FIX, MAN,
AT, CFM
D3 (ON/OFF)
TS1(ON/OFF), TS2(ON/OFF), TS3(ON/OFF),
TS4(ON/OFF)
D4 (ON/OFF)
AL1(ON/OFF), AL2(ON/OFF), SO(ON/OFF)
N: M1 M3 ( -m )
M1
_OUuT, _DEV, _TIME
M10 ( -m )
E1 MAN ,FP21
M2
LINK FORMAT, ( ), ( ),
, ( ),
M3
PID , , ,
N El E5 /
El (ON/OFF)
RST, GUA, ADV, HLD, RUN, FIX,
MAN, AT, CFM

ElQ RST/ GUA/ ADV/ HLD/ RUN/ FIX/ WMAN/ AT/ CFM
: E1 RUN EI1 HLD E1 AT

E2
_START_PTN No., _START_STEP_No.
20,
E3
_LINK_FORMAT, _LINK_EXEC,

_PV_START(YES/NO)



B30 , , YN

E4
_ADV_MODE(STP/TIME), _ADV_TIME
EAD
E5
CFIX_SV, PID _FIX_PID No, _FIX_ALM_No.
E500 ,
P1 /
P1- _PTN_No.
_PTN_No., _START_SV, _GUA_ZONE,
_GUA_TINE, _PTN_END, _PTN_RPT
P]‘D 7 I’ b ’ ’
S1 S6 /
S1- _PTN_No., _STP_No.
: _PTN_No., _STP_No., SV, _TIME
Sll:‘ 7 ’ ’
S2- _PTN_No., _STP_No.
_PTN_No., _STP_No., PID _PID_NO., _ALM_NO.
82‘:‘ ’ ] ’
S3- _PTN_No., _STP_No. TS1
_PTN_No., _STP_No., _TS1(YES/NO),
1 _TS1_ON_TIME, 1 _TS1_OFF_TIME
sso o, L, TS1
S4- _PTN_No., _STP_No. TS2
_PTN_No., _STP_ No., 2 _TS2(YES/NO),
2 _TS2_ON_TIME, 2 _TS2_OFF_TIME
sa0 L, ., ., TS2
S5- _PTN_No., _STP_No. TS3
_PTN_No., _STP_No., 3 _TS3(YES/NO),
3 _TS3_ON_TIME, 3 _TS3_OFF_TIME
53, ., TS3
S6- _PTN_No., _STP_No. TS4
: _PTN_No., _STP No., 4 _TS4(YES/NO),
4 _TS4_ON_TIME, 4 _TS4_OFF_TIME
s, L, o, TS4
“FP21 c1 C3 /
Cl- PID PID

PID ) P, 1, D



N:

LD2

co , , , PID

C2- PID
: PID ) %_OH, %_OL
c2o  PID ) %_OH, % oL
C3-
: , 1 _ALL, 2 _AL2
o, ,
KL K3
K1
_SVHL, _SVLL
K10
K2 9 81
: 9 (NO) 81 (YES) 81 (NO/YES)
Koo 9 81
K3 (CFM_MODE)
: (PTN) 7/ (LINK) _CFM_TIME
K3o
FP21 « ) 11 19
11
PV_FILTER, PV_BIAS,
R)/ (®) , SSR CYC_TIME
12
1 (SV/PV) TMT1_MODE, 2 (PV/SV) TMT2_MODE
1 TMT1_HL, 1 TMTL_LL,
2 TMT2_HL, 2 TMT2_LL
13
1 AL1_MODE, 2 AL2_MODE,
1 AL1_SENS, 1 STBY (NO/YES),
2 AL2_SENS, 2 STBY (NO/YES)
LL1 HLL LL2 HL2
AD1 AD2
C. LD1
HD2
0 ( ) 100 ( )
14 1/0
1/0 DI _1 ) 170 DI_15
1/0 0C D021, 1/0 0C D022, 1/0 OC D023,
1/0 D031, 1/0 D032, 1/0 D033

TS1 TS2 TS3 TS4 SO,RUN END EXT

HD1



15

(MA V CNT( ) SSR),
1 (NON:  MA VMV, 2 (NON:  MA V MV),
(232C  422A)
16
: (C= ,F= N= 0, ) , (PT=Pt100(1385) JPT=JPt100(BA2 1391)
17
: (MV,V,MA, TC, PT), y 0% , 100%
18
SCALE L, SCALE H,
(0:xxxx 1:XXX_X 27 XX_XX 3- x_xxx)
19 PID
SO MODE(RST/HLD), SO OUT,
NML: RST: AUTO: GUA: AUG:
(MIN: SEC: ), PID (SER: PARA: DPA:
)
8§ 8. SR25
/ :
SR25 ,SR25 26
, 9 ASC 09 ,
©) ... ASC
(b) II+II’II ll,ll-ll
(b) [1] [1] , ( )
© "

@ ;"
N: (1) NN:(oz) NNN:(012) NNNN(1234): NN.N:(12.3) NNN.N:(700.0)

SNNN(+123) SNN.N(-12.3) SNNN.N(+005.0)

SXXXXX ,
SV No.: , SV1 10 RSV, 01 10,00
ASC ., "DS" "MD"
(¢ ):
"DS" ) “STXDS, , , , , +ETX+BCC". , PV=

SV =, Sv= / =, 1 =



01 SV, 01 PID

¢ )
ey
OE PV 0 02,0 ,
, ,SR25 .
CC2125 , ,
01 "Ssvo1i, ",
002, ; 0o02,, ; 0o2,,,,
CC2125 , -1, , ,"Del"
SR25 A. B 2 C
o 0, R, U, I, Y, 60 0 2; o,D,,,N;
01 2 3 0 2
(0/R) R D
(T/7V) ]
/ (1/E) |
[00] (Y/N) Y N
60
, SR25 ,
, SR25 ,
SR25 . )
"CMCc" ,SR25 . ,SR25 "CoM™
"CM L™ ,
/ :
*hkhkhkhkkkkhkhkhhkhkhkhhkhhkhikiik SR25 *hkhkhkkhkhhkhkhkhkhkhkhhkihkhiik
LEVEL 1 IEVEL 2 LEVEL 3
/ : AT
SV : / SV
SV / :
PID /
/ (ST-BY)
/ /
/ /
DI /
/
/
/
/

F*hhkkkhkhkhrhhhkhhkhkhdhrrrrrhkhkkhdhirrrrrhhhdhdhrrrrhhhhdhrrrrirhhhdhirrriiidihhiiiix



LEVEL 1

PV SV SV /
2 ( )
4 > 0 = SONNNN 1 = SNNN.N 2 = SNN.NN 3 = SN.NNN
PV > 110% : H.H.-- PV < -10% : L.L.--
b.--- , H.H.-- , c.--—-
H.H.--
O
[
o o, (OUT1) SNNN.N (AM M,+010.0)
o ., (OUT1) SNNN.N, (OUT2)SNNN.N
o ., (OUT1) SNNN.N; (AM M,+050.0;)
[ (OUT2) SNNN.N (AM M, ,+050.0)
SV , “ ”
O NN Q (SN 02,0Q) SV
O NN (SN 02) , SV
SV /
SV No. SV SV No. SV SV
. 0
SV No. SV No. SV (5v02) SV
O SV No, SXXXX (SV 03,SXXXX) SV
O  SXXXX (SV SXXXX) SV
PID /
SV PID
NN (CPOO)(CP0O2) SV PID NN=00 PID
_SVNo. _P _I/R _D/H1 ( )
K2 _H2 _DB ( )
O SV No., , , (CP 02,NNNNN;)
o SVNo , , , , , SV PID
- D 7 ; D ’ 7% ’ ’
/
N  (ED1) (ED5)
1: EV1 2: EV2 3: EV3 4: DO1 5: D02
0: DEV 1: PV 2: SV 3: AT 4: RUN b5: ERR 6: RSV 7: MAN
0: H1 1: H2 2: L1 3: L2 4:DH 5: DL 6:ADH 7: ADL



N: St ( O%R  ),100%(D )

( )
D 7 7 7 7 7 7
. D 7 7 D ’ 77 7 7
/
_UP _DOWN (OFF=  OFF)
0 UP, DOWN (0=  OFF)
) o -
/
sV
NN sV
1 1 2 2
D 7 7 ? 7
O, ., 5 ( )
o LEVEL 2
( E/ S) ( K/ B ( L/ © ( N/ S/
( S/ ©
AT
0O E/S E= S=
/ SV
O K/E K= E=
o C/L C= L= ,
0 N/S/R N= S= R=
(ST-BY)
0 S/C s= ( ) C=
/
SSR 1 SSR 2 1
1 2
( SSR )
D 7 ? 7 7
8 /
D 7 ’ 7 7 7 ’ 7
DI ( ) /
DI
170 DI1 1/0 DI2 170 DI3 1/0 D14
o N, N, N, N, DI
N=  0:NOP( ) L:IMANC /) 2:RSV( 7 )  3:AT(ON/OFF)

4:ST-BY( /) 5:DA( / ) 6:RMP( /

R)



(

B

o ~ADNPEF OORADNLPE

(01 0,0,0,0,0) (o1 1;) (DI ,3;) (DI ,,,,6)

/
/ /
0z XXXX 11 XXX.X 20 XX.XX 31 X.XXX
D E ’ ’ b
/
S/ M Q:*** _*(x0.1) 1:****(x1)
D 7
: as; aM; 0,1l
/
01 2 3 (D/R) (T/7V)
/ (1/E) [00] (Y/N)
D b 7 7 b 7 :
: 0 2; O,R,,,
/
1 2 , 1
2
D 7 7 7 b b 7
)
(00 31) (0:1200 1:2400 2:4800 3:9600
E) 1:8 , )
LEVEL 3
ASC N
1 NN 2 NN
* 16 (ON OFF ) *
CD 1 BCD 2
MON [L1-A] 1 INP
SVn SV 2 DIA DI
PID PID 4 SCL /
E/D 8 RDT
RMP 1 MOD
OLT 2 OPT
CTL 4 INI
ouT 8 RNG

NN=16 ASC
: =45(01000101) CTL PID MON
=C0(11000000) RNG  INI

(0:7



. 3:
1: Pt100 0: JPt100(BA2) (TC

5

mA

-0 10v 6:

5:0 10V 6:

NN
r—————————= T T T T T T T T T T T T T T r— - - - -
|+ C . )I%
00:B 0 1800 22: -10 10 mV/ -1 1V 31:
01:R 0 1700 23: 0 10 mV/0 1V 32:
02:S 0 1700 24: 0 20 mv/0 2V 33:
03:K -100.0 400.0 25: 0 50 mv/0 5V 34:
04:K 0.0 800.0 0 20 mA 35:
05:K 0 1200 26 10 50 mv/1 5V 36:
06:E 0.0 700.0 4 20 mA 37:
07:J 0.0 600.0 27: 0O 100 mv/0 10V 38:
08:T -199.9 200.0
09:N 0 1300
10:PL 0 1300
11:PR40-20 O 1800
12:WRe5-26 0 2300
13:U -199.9 -200.0
14:L 0.0 600.0
L - - i
1 2 1 2
, O: 1 2: SSR 3:4 20 mA 4: mA
, 0: 1: 0 10 mV 2: mvV 3: 4 20 mA 4: mA
0: 1: RS232C 2: RS422A
N: I:
0:0 10V 1:1 5V 2: v 3: 4 20 mA 4:
: = ON/OFF ( /7 )
1 2 3 D01 D02
8§ 9. BASICA :
D0S3.0 , BASICA ,
.BAS ;
B21 B25 FP21 "D1",SR25"DS"
,PC ,
B1 C2125 , SR25,FP21
FP21,SR25 B21 B25
2327 , COM1 ,
PC COM1 2,3 , PC

422

SDA RDA,SDB RDB

,BCC

Y



810.

130
131
140
150
160
210
230
500
510
520
530
540
545
550
560
570
580
590
600
610
620
630
640
641
650
660
670
680
690
700
710
720
730
740
750
760
770
780
790
800
810
820
830
840
850
860

, 1200 ,

PC ,  BASICA FP21,SR25
:B21.BAS

REM FP21  "D1" PC

REM

STX$=CHR$(2) :ETX$=CHR$(3) : EOT$=CHR$(4)

ENQ$=CHR$(5) : ACK$=CHR$(6) : NAK$=CHR$ (&H15)
BPS$=""1200" :REM 1200

OPEN "'COM1:"+BPS$+",E,7,1,CD,RS,CS,DS" AS #1:REM
PRINT#1,EOT$:REM (GO TO SLEEP)
CMD$="D1":REM SR25 "DS"
ADR$="00"":REM "00"

RC=0 :REM , "o
C$=EOT$+ADRS+ENQ$:GOSUB 1150 :-REM

GOSUB 560:REM BCC

GOSUB 640 :REM

GOTO 500:REM
CMD$=CMD$+ETX$: LEC=LEN(CMD$) :BCC=0:REM BCC
FOR 1=1 TO LEC:S$=MID$(CMD$,1,1)
BCC=BCC+ASC(S$)

NEXT

BCC=BCC MOD 128

BCC$=CHR$(BCC)

TXD$=STX$+CMD$+BCCS

RETURN

PRINT #1,TXD$:REM

PRINT "SENDING DATA = ™;TXD$
T3=VAL(MID$(TIMES,7,2)) :REM 2

IF EOF(1)=0 THEN 700:  REM ?
T4=VAL(MID$(TINES,7,2))

IF ABS(T4-T3)<2 THEN 660:REM ?
PRINT" 2 1": RETURN

D$=""" :REM

A$=INPUT$(1,#1): REM

D$=D$+A$:REM
IF A$= ACK$ THEN GOTO 1040 :REM

IF A$=ETX$ THEN 780 :REM
IF A$=NAK$ THEN 1060 :REM
GOTO 710

REM BCC
A$=INPUT$(1,#1)

H$=D$:D$=D$+A$

LEC=LEN(H$) :BCC=0

FOR 1=2 TO LEC:S$=MID$(HS,1,1)
BCC=BCC+ASC(S$)

NEXT

BCC=BCC MOD 128

BC$=CHR$(BCC) : TXD$=NAKS

IF A$<>BC$ THEN 1030: REM BCC



870
880
890
900
910
920
930
940
990
1010
1020
1030
1035
1040
1050
1060
1140
1150
1161
1160
1161
1170
1180
1190
1200
1210

LEC=LEN(D$) : F$=""":K=1:REM
:REM STX$,ETX$,BCCS$
FOR P=5 TO LEC REM  ","
N$=MID$(D$,P,1) “REM

X$=M1D$(D$,2,2)

.( Bl

IF N$="," THEN U$(K)=F$:K=K+1:F$=""" :GOTO 940

IF N$=ETX$ THEN U$(K)=F$:N=K

F$=F$+N$

NEXT

PRINT" BCC
PRINT
RETURN:REM
RC=RC+1

:GOTO 990

1 " TAB(25) "RD = ";D$

IF RC< 4 THEN GOTO 640 ELSE PRINT"DATA BCC ERROR!I":GOTO 1010
IF D$=ADR$+ACKS THEN RETURN 1200:REM
PRINT" I RD = ";:PRINT D$;TAB(32);"TD="";TXD$:GOTO 1020

B$=LEFT$(D$,3) :REM
PRINT "
TS=0
PRINT
PRINT #1,C$:TS=TS+1
PRINT " = ":C$
GOSUB 650

IF TS<3 THEN 1160 ELSE PRINT"

RETURN
PRINT D$; "
RETURN 540

:B21.BAS

No. = ";B$:GOTO 1020

| |
| |
| BCC |
| |
| |



L _ il |
L __ il
l -————— - — — — — — —
r—— - ]
| 2
L___l____J
N | |
r—-————">"—"—"—~ ! ¢ |
EOF() N
L_ - _
? ? ?
Yoo Y LY Ly
r————- . NAK$  r—————— .
| | r | |
L _ | L J
ERn | ACK$
r————- LN Y N =
| - -
r__J_____l ? ? L —
| | Loy Loy Loy
L . r—— - 1 r—— - 1
! BCC | |
| N L _ J L J
R ?
r——+——+ Ly l
| | r—— - ] r——— -7 1
L _ 1 N
L _ il L d
/ !
8§11.
RS-232C
r—— -7 I ]
D 2f———— o————+ 3 RD
RD 3f————— c———+ 2 SD
RTS 4} -+ FP-21
CTS 5F - RS-232C
DSR 6| 1
CD 8} 4
DTR20 | -




| R 17 |
L _ d L _ il
25 RS-232C 9 RS232
RS-422A
r—————— I == === —71
SD2f— -——- 3 SDA(4) | —— -~ | RDA (4) ¢-)
RD3f——c—42 SDB(6) | —— - | RDB (6) *)
PC RS 4} - RDA(3) | «——| SDA (3) )
CS5F - RDB(9) | —«——| SDB (9) )
25 DS 6} 4 S6(5) | ———| SG (5)
RS-232C CD 8} A 232/422 ——— @
DR20 | -
7h————1 7 422
L N L
i1, ,
2. 4 RS422 , .
RS-422A
r—— - B [
3b— o——— 3 RS-232C 4}— -——— 4
2F— c———+ 2 RS-422A 6f— -——— {6
PC 7k 3p—«———43 FP-21
8} 9f— «c———149
9 1F4 5 —————A 5 RS-422A
RS-232C 4}
64
5p—————- 7
L N L
PC  RS-232C 25 9
r-r-r—rTr———7T~"~T " ~"T " ~"T—"~T " ~"T—~"T—~"T77
®PIN| 2 | 2 | 3| 4| 5|6 ]| 7| 8] 9|
A o e E e e L R
25PIN| 8 | 3 | 2 | 20| 7 | 6 | 4 | 5 | 22|
L -4+ -+ -+ -+ 1+ 1 ___1___
- —— T - ————= I 1
| 13 1] | r—q5 1r—q |
|OOOOOOOOOOOOO| | | |OOOOO| | |
| | ] ]o] o] |
| OO O0OO0OO0OO0OO0OO0OO0OO0OO0oOOo | | | | o O O O | | |
| 25 4] | L=4 9 6 L—4 |
L 4 - il
25
RS232
EIA RS-232C (12v)
RS232C 3

RS232C 15



1200,2400,4800,9600(SR25)

1. 7, :
2. 8 :
: ( )
ASCII
RS-232C 1
RS422
EIA RS422A 5V
RS422A 4 «C )
RS422A 1200
1200, 2400,4800,9600(SR25)
- 1.7, :
2. 8 , :
: ( )
ASCII
RS-422A 10 1.2
RS-422A 32 ( RS232/422 )
C ( )

#include<stdio.h>
#include<stdlib.h>
#include<conio.h>
#include<bios.h>
#include<string.h>
#define CH1 PA 0x3f8
void transmitter();
int receiver();

void main()

int length,i,h,j,m,number,flag,k;

char receive[100],comm[3],ccc[4];

char ch;

char send[]="D1";/* */

printf("please input number:");

scanf("'%d",&k);

outportb(CH1_PA+4,0);/*disable interrupt,RTS,DTR*/
outportb(CH1_PA+1,0);/*disable interrupt enable register*/
bioscom(0,0xfa,1); /*9600,7,e,1*/

clrscr();

gotoxy(26,1);

printf("*'SHIMADEN CONTROLLER™);
gotoxy(10,2);printf(*'"No");
gotoxy(16,2);printf("'SV");
gotoxy(22,2);printf("'PV'");
gotoxy(28,2);printf("'OP");
gotoxy(35,2);printf(""ALM1™);
gotoxy(43,2);printf(""ALM2™);



gotoxy(50,2);printf("'LBA™);
gotoxy(58,2);printf(*'ST");
gotoxy(64,2);printf("A/M™);
while(1kbhit())

for(number=0;number<k;number++)
h=number+1;

gotoxy(10,3+number) ;printf(*'%d",h);
itoa(h,comm,10);
if(h<10)send[1]="0";send[2]=comm[0];
else send[1]=comm[0];send[2]=comm[1];
length=strlen(send);

for(m=0;m<3;m++) /* Retry */

transmitter(send,CH1 PA,length);
i=receiver(receive,CHl PA);
if(i!=0) break;

if(i==0)
printf("Timeout™);

else gotoxy(15,3+number);
for(j=5;J<9;j++)
printf("%c",receive[j]);
gotoxy(21,3+number);
for(J=10;j<14;j++)
printf("'%c", receive[j]);
gotoxy(27,3+number);
for(j=15;j<19;j++)
printf("'%c", receive[j]);
for(J=21;j<24;j++) ccc[j-21]=receive[j];
flag=atoi(ccc);
gotoxy (35, 3+number);
i f(Flag&0x01) printf(*'SAFE™);
else printf("ACTI™);
gotoxy(43,3+number);
iT(Flag&0x02) printf(**SAFE™);
else printf("ACTI™);
gotoxy(50,3+number);
i F(Flag&0x100)printf(""SAFE");
else printf("ACTI™);
gotoxy(57,3+number);
i f(Flag&0x04) printf(*'ENAB™);
else printf("DISA™);
gotoxy(64,3+number);
iT(flag&0x20) printf(*MANU™);
else printf("AUTO™);



/*Transmitter Function*/
void transmitter(char *send,int BASE_ADD,int len)

int j;
outporth(BASE_ADD+4,0x02);/*enable RTS, enable send*/
for(J=0;j<len;j++)
outportb(BASE_ADD,send[jJ]); /*send a byte*/

/*check if transmiting shift register is empty*/
while((inportb(BASE_ADD+5)&0x40)==0);

return;

/* Receiver Function,success return the number of received byte,
failure return 0 */

int receiver(char *rec,int BASE_ADD)

int i=0;

long j=0;

outportb(BASE_ADD+4,0);/*disable RTS, enable receive*/
while((inportb(BASE_ADD+5)&0x01)1=1)/* receive data available? */
J++;11(§J>20000) return(0);

rec[0]=inportb(BASE_ADD);/*receive data*/
do

while((inportb(BASE_ADD+5)&1)!=1)/*receive data available?*/
Jj++;1F(j>20000) return(0);

rec[i]=inportb(BASE_ADD);/*receive data*/

i++;

while(rec[1-1]'=0x2a);

return(i);

_e data available?*/
Jj++;1F(j>20000) return(0);
rec[i]=inportb(BASE_ADD);/*receive data*/
i++;



